EXO-hsa-let-7a-5p EXO-hsa-miR-335-5p EXO-hsa-miR-196a-5p EXO-hsa-miR-214-3p

w5 w10 N o 10 ’ﬁrzo_
Q Q Q o
) ja} 1) ?
= o = 8 s oo e = o
5 bl ap 5 K <5 mm s 107 -
2 o 6 4 @ o
o - o o »
s a 5 510 —_— Lo e . 4
3 ] H £
ES g g < -
g0 4 g2 210
£ ° £ £ ] x
© o o E
2 -15 T T T 2 2-30 1;20
MSC TA-MSC1 TA-MSC2 MSC  TA-MSC1 TA-MSC2 MSC TA-MSC1 TA-MSC2 & e TANSCI TANSCE
EXO-hsa-miR-205-5p EXO-hsa-miR-20a-5p EXO-hsa-miR-148a-3p EXO-hsa-let-7g-5p
T 6 T4 3 25 I 2
Q O i I
a L} ] Q Q Dt L]
s = o ) 2]
= 22 = 20 [ 20
-
: I 5 5 °
2 o 90 2 15 © 2 -2 n
52 —a— = - ° " °
2 £ LT s S 4 o
8 At S X 10 s °
Zo S 00 g o E:
= x -4 X 5 x -6 -]
E o L] € -] E E
2, =2 ) =
2" T T T 2 6 T T T ° 0 2 T T T
MSC  TA-MSC1 TA-MSC2 MSC  TA-MSC1 TA-MSC2 = MSC  TA-MSCLTA-MSC2 MSC  TA-MSC1 TA-MSC2
EXO-hsa-miR-100-5p EXO-hsa-miR-127-5p EXO-hsa-let-7d-5p EXO-hsa-miR-9-5p
R —
S s _— b’._‘T 6 22 % T 2 =
I Q It Q
§ 0 *. : o z 0 s 1 Dan =
< N < 4 - =
S -5 . @ o o -2 o
— § . g . g o
g'm § 2 ] g -4 ©° = g-
X ) A L] K 3 -1
£ 15 = < 6 ™ < o n
2 g0 z o z > —
o = -]
x z N [
£ -20 ° = ° S o E o -
E -25 T T T 22 T T T E E -3 T T T
MSC  TA-MSC1 TA-MSC2 MSC  TA-MSC1TA-MSC2 MSC  TA-MSC1 TA-MSC2 MSC  TA-MSC1 TA-MSC2
EXO-hsa-miR-181b-5p EXO-hsa-miR-210-3p EXO-hsa-miR-143-3p EXO-hsa-miR-126-3p
r° 7 . T8 6
o
? anee O ? ? " ?
s 0 - s L] S o T s
=) ° 2 2 ° 2
c c 4 c c o
s 5 S ° S . S 4
£.-10 22 —— 5 ° s ]
3 m 3 At 3-10 o ]
g E = g2 =
x x x.15 -] [
£ -20 o £ = £ = St (o] L]
o s s o
i T T 8 g-20 g
MSC TA-MSC1 TA-MSC2 MSC TA-MSC1 TA-MSC2 MSC  TA-MSC1 TA-MSC2 MSC  TA-MSC1TA-MSC2

Supplementary Figure S1



